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Q1. Choose the cormect answer.

1. Primarily, all enzymes are;

Lipids %' (D)
2. Which best defines an enzyme?

<t 5238032 D) <A ES et L (C)

A molecule that stores energy A protein that speeds up reactions

Carbohydrates <...471+.€ (C)

3. Enzymes are specific in their action because:

Aot S8 (C)

They are consumed in reactions

LS 6y Al e (D)
They work only at high
temperatures

4. How does competitive inhibitor affect enzyme action?

<t/ Sl L (D)

Blocks the cofactors

(C)
et/ S S 7 A LA
Attaches and blocks the active site

5. An enzyme works best at a pH of 7.4. It is placed in an agidic solution
with a pH of 4.0. How will this affect the enzyme?

D) ¢/ LAz (C)
C2 bn o Fog Uil 2ldE The enzyme will gain additional

The substrate will become inactive active sites

in an acidic environment

6. What is TRUE about the optimum pH values of the following
enzymes of digestive system?

) (D) /6 pH Udss (C)
pHE =2t/ 6 pHesl s 5= Both work at low pH
<t/ r¥y

Pepsin works at low pH while
trypsin works at low pH

Q2. Write short answers of the following questions.

| . Define metabolism. Differentiate between catabolism and anabolism.

Il . Which type of metabolism demands input of energy? Give an
example.
Il . Define an enzyme. What is its role in metabolism?

IV . What is the active site of enzyme? State its importance in enzyme
specificity.
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Proteins % sz (B) Nucleic acids 42/£¥ ¥ (A)
St L g A frdelud 2
et/ ey AL (B) e i3 S# 2 K2 L (A)
A hormone that regulates. A chemical that breaks down food
metabolism
Ed st S ifin 3
Fay, s (B) (A)
They are always proteins Flo S Sl
< S S
Their active sites fit specific
substrates
S D30 AU 46 Friaf) FF 4
<t /S FSf7 (B) <tz A6 2 (A)

Changes enzyme shape Attaches with the substrate
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The active site will be modified,
reducing substrate binding

The enzyme will catalyse reactions
faster due to increased H ions
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al /| ~§,pHssLiu s (B) (A)
Both work athigh pH ~ pHsslie+/ 8 < b/ 6, pHf 5=
Lz

Pepsin works at low pH while

trypsin works at high pH
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V . Which type of enzyme inhibitors inhibit the enzymes without
attaching to the active site?

VI . Why enzymes are called biological catalyst?

VIl . Describe lock andkey model of enzyme action.

Q3. Write detailed answers of the following questions.

1. Describe the characteristics of enzymes.

2. Compare the Lock-and-Key and induced Fit models of enzyme action.

e S Lot Us P62z (enzymeinhibitors)isZLun b <o, V
SuresJu e < (activesite)

bl U« (biologicalcatalyst), &1L /(enzymes) G VI
S ot (LockandKey)"de siut" LS 2i Sus 6. VI
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